	HOTS Question Bank Format



	GRADE: 12         SUBJECT: ECONOMICS.

	CHAPTERS 1

	No
	Questions

	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	What implication(s) does resource scarcity have for the satisfaction of wants?
	Ap
	Faced with unlimited wants but only a limited amount of resources to satisfy those

wants, we must make choices. Having to make choices implies that all of our wants cannot be satisfied at any one

time
	1

	 2
	What happens if the PPC is a Linear Curve (straight line) ?
	Ap
	the opportunity cost of each unit of a good is constant, i.e., the

opportunity cost of each unit of the good is the same. This is illustrated by the constant slope of the PPF.
	1

	CHAPTERS: 2

	No
	Questions


	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	What is the reaction of suppliers to an increase in the incomes of consumers?
	 Sy
	Suppliers do not react, since income shifts the demand curve, not the supply curve.
	1

	2
	Suppose consumers expect a recession to begin in the next few months. They might react by trying to save

more in case they are laid-off or have to work reduced hours. Under these circumstances, what would happen to

the equilibrium prices and quantities of the goods the consumer usually buy?
	Ap
	In order to increase their savings, consumers must reduce spending on goods and

services. Therefore, the demand for goods and services decreases and the demand curve shifts to the left. This

results in both equilibrium price and equilibrium quantity decreasing.
	1


	CHAPTERS 3

	No
	Questions


	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	What is the price elasticity of supply of a commodity whose straight line supply curve is parallel to the Y axis?


	 An
	Perfectly

Inelastic
	1

	2
	Is it demand or supply, which is more active in determining price? Explain
	Ap
	Generally demand and supply both are equally important in determining the price of a commodity. Without one other is useless. Both are like the blades of a scissors. It is difficult to say which blade whether lower or upper is important. So in the absence of anyone price cannot be determined.
But if we talk about period of time we can make some results like 
In case of very short period, Demand is more important than the supply because supply is fixed in that period and it is only the demand which can influence the price of the commodity 
And if demand increases price will go up and if demand decreases price will go down.
But in case of short run, Supply may have more influence because supply can be adjusted according to demand, which in turn will influence the price of the commodity
	3


	CHAPTERS:4

	No
	Questions


	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	What is meant by the term price taker? In the context of a firm?


	An
	More than one producer in the market and can earn normal profits. 


	1

	2
	What is meant by the term price maker? In the context of a firm?


	Sy
	 Only one producer in the market and can earn  abnormal profits. 


	1


	CHAPTERS 5

	No
	Questions


	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	When will national income be less than domestic factor income?
	Ap
	When Net Factor Income from abroad is negative
	1

	2
	When will national income be more than domestic factor income?
	
	When Net Factor Income from abroad is positive
	1


	CHAPTERS 6

	No
	Questions


	Ap/An/Sy/ Ev
	Value Points
	Point wise marks

	1
	 Assume that real GDP per person was $19,000 in 1999 and $19,750 in 2001. Based on this information, what

was the growth rate of real output over this period?


	Ap
	The growth rate is calculated by dividing the change in real GDP per person by the

the level of real GDP in the base year, i.e., 750/19,000 = 3.94 percent.
	1

	2
	What is the opportunity cost for economic growth ?
	Sy
	 Rising inflation
	1


	CHAPTERS 7

	No
	Questions


	Ap/An/Sy/Ev
	Value Points
	Point wise marks

	1
	Why has money come as a medium of exchange ?
	Ev
	Because of the drawback of Barter system of trade
	1

	2
	Assume that a bank has Rs80,000 in demand deposits, total reserves of Rs60,000, and a reserve requirement

ratio of .20 (20%).How much can This bank can safely lend ?
	An
	The bank’s required reserves are .2($80,000) = $16,000. The difference between

total reserves and required reserves, Rs60,000 - Rs16,000 = Rs44,000, is its excess reserves, which is the total amount

the bank can lend
	1

	CHAPTERS 8

	No
	Questions


	Ap/An/Sy/Ev
	Value Points
	Point wise marks

	1
	What changes in the government budget give rise to inflation ?
	Ap
	Increased government expenditure and decrease in income tax.
	1

	2
	What are the advantages of a deficit budget ?
	Ap
	Achieve the macro economic targets as planned.
	1

	CHAPTERS 9

	No
	Questions


	Ap/An/Sy/Ev
	Value Points
	Point wise marks

	1
	When is it most likely to lead to an increase in the rate of consumer price

inflation?
	Ap
	A rise in world commodity prices
	1

	2
	What will be the effect on the rupee on an increase in interest rates by the Reserve Bank of India ?
	Ap
	 Rupee will appreciate as demand will rise
	1


Unit 1.Introduction
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1.
	If the number of skilled labour increase in a country how will it affect the production possibility curve?


	Analysis


	Curve will shift rightward as there is growth of resources.


	(1
((((1)

	2.
	What will be the shape of the PPC when Marginal opportunity cost is (i)increasing(ii) decreasing and (iii) constant


	Application


	(1)downward sloping(2)upward sloping(3)Straight line

Show diagrams


	1+1+1=3


Unit 2:Consumer Behavior and Demand
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1
	Why is the negative sign used as a prefix to the formula of elasticity of demand? 


	Application
	As the relation between price and demand is negative.


	(1)

	2.
	How will the increased use of credit cards affect the demand for say electronic goods?


	Analysis
	It will lead to increase in demand for electronic goods and the demand curve will shift rightwards
	(1)


Unit 3: Producer Behavior and Supply
	S.No
	Question
	App,an,evn
	Value Points
	Marks

	1
	What is the significance of the three stages of the Law of Variable Proportions for a producer?


	Analysis
	(1)1st stage-every additional unit of the variable factor adds more and more output as MP is increasing. Producer will continue to produce.

(2)2nd stage-TP is increasing and MP is still positive although declining. This is the stage where producer will maximize his profit.

(3)3rd stage-every additional unit of the variable factor gives less and less output. TP is declining and MP is negative therefore not profitable for the producer.


	1+1+1=3

	2.
	What factors lead to diseconomies of scale leading to decreasing returns?
	Analysis
	(1)Inefficiency

(2)Managerial Constraints
	(1)


Unit4:Forms of Market and Price Determination
	1.
	Why is the demand curve facing a monopolistic less elastic than  the demand curve facing a firm under monopolistic competition?


	Application
	(1)Under monopoly there are no close substitutes and therefore the consumer has no choice where as under monopolistic competition close substitutes are available and the consumer can shift to any of them.

Diagram
	2+1=3

	2.
	Can a firm under monopolistic competition influence the price of the commodity?


	Application
	Yes. To the extent of product differentiation.


	(1)


Unit:5 National Income and Related Aggregates
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1.
	Are the following items included while calculating national income? Give reasons.

i) Vegetables purchased by a restaurant.

ii) Stationery articles purchased by the government.

iii) Sales tax charged by the government.


	Application
	(i)No. Intermediate product used for preparing dishes by restaurant.

(ii) No. Intermediate product used for providing services by govt.

(iii) No. Part of NNP@mp not NNP@FC which is the national income (since tax is part of income generated.) 
	1+1+1=3



	2.
	Why is interest on national debt not taken into account while calculating national income where as interest paid by banks is taken into account 
	Application
	)It is assumed that when the government borrows it is for consumption purposes and therefore the interest is not taken into account.

(2)Commercial banks lend for productive purposes therefore the interest is taken into account
	1.5+1.5=3


Unit6:Determination of Income and Employment
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1
	What is the consequence of an inflationary gap on output ,income and prices in the economy?
	Application
	(1)When Aggregate demand increases beyond full employment out put remains constant.

(2)Excess demand puts pressure on the existing supplies leading to rise in prices.

(3)Only nominal income rises not real income
	1+1+1=3

	2.
	Why are exports considered as part of domestic income?


	Application


	As exports are considered as expenditure by foreigners on domestically produces goods and services.


	(1)


Unit7:Money and Banking
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1.
	Why are post office savings bank not considered as banks in the true sense although they accept deposits?


	Application
	(1)As they do not lend money.


	(1)

	2.
	If there is no equivalent cash to the amount of demand deposits with the banks, why should demand deposits be considered as part of money supply?
	Analysis
	(1)This is because all demand deposits are chequable deposits and can be used as money by way of issuing cheques.


	(1)


Unit8: Government Budget and the Economy
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1.
	Why an indirect tax such as sales tax is considered regressive?


	Application
	(1)As it causes a greater real burden on the poor as compared to the rich
	(1)

	2.
	Why are grants by the centre to the state governments considered as revenue expenditure
	Application
	(1)Since they are usually used to cover the deficits of state governments even though they may be used to create assets.


	(1)


Unit9: Balance of Payments
	S.No
	Question
	App,an,syn,evn
	Value points
	Marks

	1
	Why does strengthening of a domestic currency say the Indian rupee lead to a possible reduction in exports?
	Analysis
	(1)As the foreign purchasers get lesser rupees for a dollar, they get lesser goods and therefore leads to reduction of exports.
	(1)

	2
	Does an equilibrium in the balance of payments indicate an ideal situation?
	Analysis
	(1)No, because it may have been achieved through borrowing from abroad which is increase in liability
	(1)


Chapters / Concepts :  Unit – I & II – Introduction and Consumer’s Behaviour And Demand

	No.
	Question/s
	*Apl/An/

Sy / Ev
	Value Points
	Points

Wise 

Marks

	1.
	If production possibility curve shifts to the right, should it be parallel to the old one? 
	Apl
	Not necessarily, because slope of the PPC indicates MOC, which may be different at different levels of output.


	1

	2.
	How would you comment on the elasticity of demand when 8% decrease in price of a commodity  causes 2% increase in expenditure of the commodity?
	An
	Elasticity of dd must be greater than unity, when expenditure on the commodity responds inversely to any change in price of the commodity.
	3




Chapters / Concepts :  Unit – III – Producer’s Behaviour And Supply

	1.
	Give two examples where technological progress leads to shift in the supply curve.


	Apl
	- Use of computers, reduces

   the per unit cost of 

   production.

- Use of powerloom in place

  of handloom has enhanced

   productivity.    
	1½

1½
3

	2.
	Under what circumstances variable cost is zero?
	An
	When production is zero, the variable cost will also be zero.
	1

	3.
	Does TC always shoot from            Y-axis?
	Apl
	-  No, This happens only 

   when it is refered to the 

    short period, existence of

    fixed cost & variable cost.

-  In long period, all costs

    are variable so TC shoots

    from the origin.
	1½

1½
3

	4
	At a given price of a commodity; there is excess supply.  Is this an equilibrium price? If not, how will the equilibrium price be reached. Use diagram.
	Ev
	Not excess supply – not at equilibrium – Explanation and diagram.
	4

2

6


Chapters / Concepts :  National Income Accounting

	 No.
	Question/s
	*Apl/An/

Sy / Ev
	Value Points
	Points

Wise 

Marks

	1.
	Indicate whether the following are intermediate or final good:

a)  Exhaust fans used for the

     manufacturing desert coolers.

b)  Furniture purchased by a 

     household.

c)  Sewing machine purchased by

     tailoring firm. 


	Apl
	a)  Intermediate goods, help to 

     produce final good.

b)  Final goods, directly 

     consumed.

c)  Final goods, helps 

     producing more goods in 

     future.


	1

1

1

3

	2.
	How are the following treated in the estimation of N.I.?

a)  Interest paid on loan taken to 

     buy a personal car.

b)  Allowance of a Member of

     Parliament.

c)  Expenditure on Construction

     of a House.


	Apl
	a)  Not included, it is interest

     on money used for 

     consumption purpose.

b)  Included, part of COE.

c)  Included, part of gross 

     fixed capital formation.
	1

1

1

3




Chapters / Concepts :  Unit II – Aggregate Demand and Supply – Theory of Income & Empt. 

	1.
	What happens if AD>AS prior to the full empt. level of output.


	An

Sy
	- state of dis. equilibrium

- stocks will decrease, greater

   production and supply,  (increase in AS followed till equilibrium is struck (ie) AD = AS
	4



	2.
	Does an excess of AD over AS imply a situation of inflationary gap?
	Apl
	No. Inflationary gap occurs when AD is more than AS corresponding to the full empt.

level of output.


	3


Chapters / Concepts :  Theory of Income and Employment

	 No.
	Question/s
	*Apl/An/

Sy / Ev
	Value Points
	Points

Wise 

Marks

	1.
	What will be the effect on the economy of savings function lying below the Investment schedule?


	Apl
	- reduction in inventories of

  unsold good.

- firms will increase prod. and 

  increase employment.


	1

1

	2.
	What is the value of MPC if an additional investment of Rs. 40 crores leads to the increase in Income by Rs. 100 crores?
	Apl
	(Y = 
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1 – MPC = 40/100 = 0.4

MPC = 1 - 0.4 = 0.6


	3


Chapters / Concepts :  Unit III – Money and Banking

                                        Unit IV – Government Budget

	1.
	What is the effect of raising the bank rate on volume of credit given by banks?


	Apl
	- increase in Bankrate makes borrowing – reduces liquidity

-  increase in interest rate –  restricts credit.


	3



	2.
	Is deficit budget a sign of government in efficiency?
	Apl
	No, A budgetary deficit may be a planned strategy of the government during the period of depression.


	1


Chapters / Concepts :  Unit V – BOP

	 1.
	Name the items that are excluded in balance of Trade and included in BOP?


	Apl
	-  Invisible items are not  included in BOT, but included in BOP


	1



	2.
	If $9 are needed to buy of ₤2, what is the exchange rate for USA $?
	Apl
	₤1 = 
[image: image3.wmf]2

9

 = $ = 4.5

(ie) ₤1 = $ = 4.5 


	1


Chapter  - 2  Consumer Choice and Demand Analysis 

	S. No.


	Question  s
	Apl / An /

Sy / Ev
	Value Points


	Points wise marks

	Q 1
	Why is it necessary to prefix a ‘ – ‘ sign to the formula of elasticity of demand ?
	Analysis


	Due to inverse relationship between  dd & price

avoides the hassle of ignoring  minus sign 

donot prefix the minus sign if elastic demand is given minus value
	3

	Q 2
	Do you agree with the view that law of demand need not necessarily fail in case of inferior goods ?
	Analysis
	Yes 

Definition of inferior goods

When income effect is less than the substitution effect


	3


Chapter :  Economics  -  An Introduction and Central Problems of an economy

	S. No
	Question /s
	Apl / An /

Sy / Ev
	Value Points


	Points

wise

marks

	Q 1 
	If  resources are scarce,  how do

you explain massive

unemployment in India ?
	Analysis
	Factors of production like capital and labour are always jointly used. In India there is severe shortage of capital. Labour alone cannot be used, therefore remained unemployed
	3



	Q 2
	In the Present World Capitalistic

Economies are not really

Capitalistic.  Comment.


	Evaluation
	Present day world is reeling under recession  - may lead to depression  - capitalistic economies like US and UK are bailing out the private financial institution – taking over the private companies to protect the consumers.

Explain with examples


	4




Chapter – 3 -  Producer  Behaviour and Supply

	S. No.
	Questions
	Apl / An /

Sy / Ev
	Value Points
	Point

Wise

marks

	Q1
	During the market period all costs are fixed costs.  How ?
	Analysis
	Market period is a short period and in short period overhead costs do not vary with the level of output.
	1

	Q2
	Does TC always shoot from Y-axis ?


	Application
	TC =TFC+TVC

TFC is incurred even if the output is zero. Therefore TC always shoots from Y axis.

Draw diagram


	3


Chapter - 6  Introduction to Macro Economics and National Income Accounting
	No.
	Questions


	Apl / An /

Sy / Ev
	Value Points
	Points wise marks



	Q 1
	Should we treat subsidies as transfer payments?


	Analysis
	1. No.  explain transfer payments

2. In case of subsidies value addition has already occurred

3.If fact subsidies tend to lower market value of goods.

4. Subsidies are a part of NNPfc which is why these are deducted from the factor cost to equate with market price.
	4

	Q 2
	Explain the negative effect of leakages in a circular flow of income.


	Analysis
	Savingleakages.

  .Savings are leakages.

1.. Reduces consumption.

2.  Decreases production.

3.  Reduces income


	3




Chapter – 7- Determination of Income Employment and Output.

	No.
	Questions


	Apl / An /

Sy / Ev
	Value Points
	Points wise marks

	Q 1 
	Derive savings function from the equation C = a + by and explain the components of the equation.


	Application
	S = Y  -  C

S = Y – a + bY

   =  Y + bY – a

   = Y ( 1 + b ) – a

   = - a + Y ( 1 + b )
	4

	Q 2 
	Explain the role of ‘reserve ratio’, ‘rate of interest’ and ‘rate of taxation’ in reducing the aggregate demand in the economy. 


	Analysis and application
	Increase in CRR reduces

The amount of money in the economy

Increase in the rate of interest encourages savings

Increase in the rate of taxation reduces the disposable income of  the people

Explain all the points with diagrams
	6


UNIT: 8  -  MONEY  AND  BANKING

	S.NO
	QUESTION
	APL/AN/

SY/EV
	VALUE   POINTS
	POINT

WISE

MARKS

	 1.
	How is quantitative credit control different from qualitative credit control?
	 AN
	Quantitative credit control refers to overall credit control in the economy, affecting all sectors of the economy equally and without discrimination.

Qualitative credit control refers to selective credit control that focuses on allocation of credit to different sectors of the economy.
	1

1

	  2.
	What is meant by an ideal supply of money?
	 EV
	Ideal money supply is that amount of money supply which keeps the total purchasing power or aggregate demand in a state of balance with aggregate supply so that the economy does not suffer inflationary or deflationary situations.
	2


UNIT:7—DETERMINATION OF INCOME AND EMPLOYMENT

	S.

NO
	QUESTION
	Apl/An/Sy/Ev
	VALUE POINTS 
	POINT WISE

MARKS



	1
	Find saving function when consumption is given as: 

C=1000+0.6y.
	APL
	We know that saving function is :

S = -C +(1MPC) Y

So that

S = - 1000+(1- 0.6)Y

S= -1000+ 0.4Y


	1

1

1

	2
	Suppose that consumption equals :

C = 40 + .75 Y, investment equals:

I = Rs.60 and Y = C+I

Find: 1)  The equilibrium level of income, 2) The level of consumption at equilibrium and 

3) The level of saving at equilibrium
	SY
	For equilibrium level of income     

Y = C +I,

ie, AS=AD

Substituting the values of C and I, 

we get

Y= 40 + .75Y + 60

 (Y- 0.75Y) = 100

 .25Y = 100

   Y= 400

This is the equilibrium level of

 income.

2) Given: C = 40 + .75Y

For   Y =400, C = 40 + .75(400)=340

3) S = Y-C =Y- 40 -0.75Y 

     S = -40 +.25Y

 For  Y=400,S= - 40 +.25(400)

      S = 60
	1

1

1

1


UNIT:7—DETERMINATION OF INCOME AND EMPLOYMENT
CONCEPT:- PROBLEMS OF EXCESS DEMAND AND DEFICIENT DEMAND
	NO
	QUESTIONS    
	Apl/An Sy/Ev
	VALUE  POINTS
	Point wise 

Marks

	   1.
	What happens to the economy’s output, income and employment when there is a deficient demand?
	Ev
	Deficient demand causes the economy’s  income, output, employment and prices to decline, thus pushing the economy into underemployment equilibrium.  


	1

	   2.
	Would you advocate cheap money policy or dear money policy in a situation of excess demand? Explain.
	An
	In a situation of excess demand, the RBI advocates dear money policy ie, availability of Credit is restricted.

Cheap money policy is the policy of increasing the availability of credit to compact deficient demand. 

	1

1


UNIT : 10  BALANCE  OF  PAYMENTS
	S.NO
	QUESTION
	APL/AN/

SY/EV
	VALUE   POINTS
	POINT WISE

MARKS

	 1.
	Balance of payments always balances. Does it mean a situation of zero net financial obligation for a country?  
	   EV
	It is only in the accounting sense that balance of payments always balances. From the practical point of view it should not be interpreted as a situation of zero net financial obligations for a country. The positive balance in capital account may have been achieved through loans from the rest of the world. All loans are financial obligations to rest of the world. 
	       3

	2.
	Is improvement in exchange rate of the country’s currency always beneficial?
	AN
	Improvement in exchange rate of a country’s currency( say Indian  Rupee vis-à-vis US dollar) implies that less rupees are to be paid for a dollar than before. It shows the relative strength of the Indian rupee in the international market. How ever, for a developing country like India  it is not also always desired.
	2




UNIT : 9 – GOVERNMENT BUDGET AND THE ECONOMY
	S.

NO.
	QUESTION
	Apl/An/Sy/Ev
	VALUE POINTS 
	POINT WISE

MARKS



	1.
	‘The fiscal deficit gives the borrowing requirement of the Government.’ Explain.
	Apl
	Fiscal deficit shows the borrowing requirements of the government during the budget year.

Fiscal deficit = Total Expenditure –

                         Revenue receipts – 

                         Non debt creating

                         capital receipts

It indicates the total borrowing requirements of the government from all sources.  As the government borrowing increases, its liability in future to repay loans along with interest thereon also increases.


	1

1

	2.
	Is deficit budget a sign of government inefficiency?


	Sy
	No, a deficit budget is not a sign of government inefficiency.  Budgetary deficit may be a planned strategy of the government during periods of depression when the government needs to accelerate the pace of expenditure in the economy.


	1


Chapters/ Concepts: Introduction
	Sl. No
	Question/s
	Apl/An/Sy/Ev
	Value Points
	Points-wise Marks

	1.
	What is meant by macro economics paradox?
	Analyse
	What is good in micro economics may not be good in macro economics. For example, savings is good at the micro level but at the macro level, it leads to unemployment.
	1

+

1  = 2

	2.
	Is the study of agriculture a micro economic study or macro economic study?
	Analyse
	It is a micro economic study because it is only a part of the economy.
	1


Chapters / Concepts: National Income Accounting
	Sl. No
	Question/s
	Apl/An/Sy/Ev
	Value Points
	Points-wise Marks

	1.
	How would the following transactions affect net exports of India?

a) An Indian art professor spends the summer touring museums in Europe.

b) Residents of Egypt flock to watch the latest Shahrukh Khan movie.

c) The student bookstore at Delhi University sells a pair of ADIDAS sports shoes.
	Analysis
	a) Net exports decrease as the country’s imports by way of spending on goods and services abroad by the professor increases.

b) Net exports increase as Egyptians demand Indian services.

c) India’s net exports decrease as the students buy a foreign product.
	1

1

1   = 3

	2.
	If prices rise, people’s incomes increases. The growth of real GDP ignores this gain. Why, then, do economists prefer real GDP as a measure of well being?
	Evaluate
	Economists prefer real GDP as a measure of well-being because increase in nominal GDP does not show increase in output while increase in real GDP shows increase in real output.
	1

 


Chapters / Concepts: Income Determination
	Sl. No
	Question/s
	Apl/An/Sy/Ev
	Value Points
	Points-wise Marks

	1.
	Explain whether each of the following shifts the short run aggregate demand curve, aggregate supply, both or neither.

a) Households decide to save a larger share of their income. 

b) Kashmir apple gardens suffer a prolonged period of below-freezing temperatures.

c) Increases job opportunities overseas cause many people to leave the country.
	Analysis
	a) Aggregate demand curve will shift to its left.

b) Aggregate supply curve will shift to its left.

c) Both aggregate demand curve and aggregate supply curve will shift to their left.
	1

1

1  = 3

	2.
	Categorise the following on the basis of degree of volatility during a business cycle. Give reasons in support of your answer.

a) Durable goods such as furniture and car

b) Semi-durable goods such as clothing.

c) Non-durable goods such as food.
	Analysis
	a) Production of durable goods will suffer the most as incomes of the people will be low.

b) Production of semi durable goods will also suffer but not as much as durable goods.

c) Production of non-durables is mostly essential goods. So, their production will suffer the least.
	1

1

1  = 3


Chapters / Concepts: Money and Banking
	Sl. No
	Question/s
	Apl/An/Sy/Ev
	Value Points
	Points-wise Marks

	1.
	Which of the following are money in the India? Explain your answers by discussing each of the four functions of money.

a) An Indian 50 paise

b) A bank credit card
	Evaluate
	1) An Indian 50 paise can be used for exchange of goods, can store value, can measure the value of goods and can be used for making future payments.

2) A bank credit card is used for exchange of goods and for making future payments.
	2

2  = 4

	2.
	Reserve Bank of India, the central bank of India, conducts a Rs. 10 million open-market purchase of government bonds. If the required reserve ratio is 10%, what is the largest possible increase in money supply? 
	Analyse
	Reserve Ratio is 10% = 1/10 Therefore, money multiplier is 1/0.1 = 10 

Purchase of govt. bonds is injection and it is Rs.10 million.

Increased money supply  

= 10 * 10 million = 100 million.


	1

1

1  = 3


Chapters / Concepts: The Government: Functions and Scope
	Sl. No
	Question/s
	Apl/An/Sy/Ev
	Value Points
	Points-wise Marks

	1.
	The government increases both expenditure on unemployment benefits and taxation by Rs. 10 crores. What will bw the net effect of this budget policy on income?
	Appl
	As Government expenditure multiplier – tax multiplier = 1,

the net effect of them will be that income will increase by Rs. 10 crores.
	1

	2.
	Inequalities of income are high in India. Suggest two budgetary measures in detail for reducing them.
	Analyse
	1. Direct taxes on income

2. Transfer payments to less 

   privileged classes 

3. High rate of indirect taxes on 

   luxury goods

4. Subsidies on wage goods

[Explanation of any two]
	2 + 2 = 4


Chapters / Concepts: Open Economy Macro Economics
	Sl. No
	Question/s
	Apl/An/Sy

/Ev
	Value Points
	Points-wise Marks

	1.
	Suppose the French suddenly develop a strong taste for Indian basmati rice. Answer the following questions. Use diagram.

a) What happens to the demand for Indian rupee in the foreign exchange market?

b)What happens to the value of Indian rupee in the foreign exchange market?
	Analyse
	a) The demand for Indian rupee will increase. This will cause the rupee demand curve to shift rightward.

b) The value of Indian rupee will appreciate against French frank.

Diagram of demand for and supply of French frank.
	1

1

2  = 4

	2.
	India generally runs a significant trade deficit while its balance of payments is surplus. Explain the phenomenon.
	Synthesise
	India’s balance of trade is deficit because its exports are less than imports.

But the capital inflow is greater than capital outflow. Or transfers from abroad may be higher than  transfers India made abroad. This explains why India’s BoP is positive though its BoT is deficit.
	1

1

1  = 3


Chapter: Introduction to Micro Economics

	Sl.No
	Question/s
	Type
	Value Points
	Point wise marks

	1.
	Distinguish between opportunity cost and marginal opportunity cost.
	Ana
	Opportunity cost is the value of next best opportunity lost, whereas marginal opportunity cost is the ratio between additional output lost and additional output gained when resources are continuously shifted from one use to the other.
	1

	2.


	Does production take place only on the PPC curve?
	Eva
	An economy does not always produce on a PPC.  

When it does it means that there is no unemployment and all the resources are being used efficiently. 

 If there is unemployment or inefficient use of resources, an economy will operate inside a PPC.
	1
1
1= 3




Chapter: Utility

	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	Why is it necessary to keep marginal utility of money constant in the law of diminishing marginal utility?
	Eva
	It is necessary to keep marginal utility of money constant because the marginal utility of a commodity is measured in terms of money.
	1

	2.


	Assume that you are choosing between two goods X and Y and your marginal utility from each is shown as below.  Find out 

a) The best combination of goods that a consumer will purchase in equilibrium and 

b) The total utility from the best combination.

Units of X

MU of X

Units of Y

MU of Y

1

2

3

4

5

6

10

8

6

4

3

2

1

2

3

4

5

6

8

7

6

5

4

3

Price of X is Rs.2, Price of Y is Re.1 and income is Rs.9


	Apl
	Mu of x / Price of X

Mu of Y / Price of Y

5

8

4

7

3

6

2

5

1.5

4

1

3

A rational consumer will purchase two units of X and four units of Y.

The total utility realized by the consumer is 48 utils.
	2

2 = 4



Chapter: Demand
	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	The price of a commodity is Rs.30 per unit and its quantity demanded is 1000 units.  Its quantity demanded rises by 160 units as a result of a fall in its price by 40%.  Calculate its price elasticity of demand.
	Apl
	Price elasticity of demand = (-)

% change in quantity demanded

 % change in price

% change in quantity demanded= 16%

Ed= (-) 16%

        -40%

   =  0.4(Ed<1)
	1

1

1

1=4

	2.


	How will the following changes in price affect total revenue (expenditures)?

a) Price falls and demand is inelastic

b) Price rises and demand is elastic

c) Price falls and demand is of unit elasticity
	Syn
	a) Total expenditure will fall

b) Total expenditure will fall

c) Total expenditure will remain the same
	1

1

1=3




Chapter: Production
	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	What causes the production to increase at a rapid rate in the initial stage when units of a variable factor are increased?
	Ana
	As more and more units of a variable factor are added to fixed factors, fixed factors are more effectively utilized which causes production to increase at a rapid rate in the initial stage.
	1

	2.


	Two inputs labour (L) and capital (K) are used in producing a product.  Identify returns to scale on the basis of the following when the producer moves from one input combination to another.

Input combination

Total output (Units)

1L + 3K

2

2L + 6K

5

3L + 9K

9

4L + 12K

14

5L + 15K

19

6L + 18K

24

7L + 21K

28

8L + 24K

31

9L + 27K

33


	Apl
	Marginal product(units)

Stages

2

Stage I:

Increasing returns

3

4

5

5

Stage II:

Constant returns

5

4

Stage III:

Decreasing returns

3

2


	Table = 1

1

1

1 = 4



Chapter: Cost

	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	How can one obtain total variable cost from marginal cost?
	Eva
	Total variable cost is equal to the sum of marginal cost, so TVC is equal to the area under MC curve
	1

	2.


	Calculate AVC and ATC from the following table.

Output

AFC

MC

1

100

90

2

50

80

3

33.33

70

4

25

60

5

20

70

6

16.67

80

7

14.29

90

8

12.50

110

9

11.11

130

10

10

150


	Apl
	AVC

ATC

90

190

85

135

80

113.33

75

100

74

94

75

91.67

77

91.43

81.25

93.75

86.67

97.78

93

103


	2+2 = 4



Chapter: Supply

	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	The diagram below shows the supply curve of 3 commodities.  Rank their price elasticities.




	Appl
	Any supply curve passing through the origin irrespective of the angle it makes has unitary elastic hence, supply curves of P, Q and R are unitary elastic.


	1

	2.


	“The shorter the period the greater will be the influence of demand on price and longer the period the more important will be the influence of supply on price”.  Explain.
	Ana
	a) In the market period if a sudden increase in demand takes place there will be a sharp increase in market price but there can be no change in the amount supplied.

b) In the short period an increase in demand leads to an increase in market price but there can be a sudden increase in output with the existing fixed factors.

c) In the long run period the time is long enough for the firms to change in size of their plants or build new plants.  Also new firms can enter the industry.

	1

1

1


Chapter: Revenue

	Sl.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	What is the relationship between total revenue, price and quantity sold?


	Ana
	Total revenue is equal to price multiplied by output.
	1

	2.


	The demand schedule facing a monopoly is given below.  Derive its total revenue, average revenue and marginal revenue schedules.

Price (Rs.)

Quantity demanded

1

9

2

8

3

7

4

6

5

5

6

4


	Apl
	Total Revenue

Average Revenue

Marginal Revenue

9

9

9

16

8

7

21

7

5

24

6

3

25

5

1

24

4

-1


	Each column 1; 

3x1 =3




Chapter: Forms of Market

	Se.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	Which features of monopolistic competition are competitive in nature?
	Ana
	a) There are large number of sellers

b) There is free entry and exit in the long run
	½

½ =1



	2.


	To what extent can a firm influence the price of a commodity under 

a) Perfect competition

b) Monopoly and

c) Monopolistic competition?
	Eva
	a) Under perfect competition the price of the commodity is determined by the forces of demand and supply of the industry since a firm is a price taker it cannot influence the price of a commodity

b) Under Monopoly there is only one firm in the industry and hence a price maker.  It can influence the price of a commodity

c) Under monopolistic competition the price of a commodity is determined by the market forces of demand and supply of the industry.  A firm can enjoy some monopoly in the market.  Hence, it can influence the price to some extent.
	2

2

2 = 6



Chapter: Market Equilibrium

	Se.No
	Question
	Type
	Value Points
	Point wise marks

	1.
	What happens to the equilibrium price and supply of a commodity increases demand remaining unchanged?
	Syn
	The equilibrium price will fall.
	1

	2.


	How will a decrease in the income of buyers of an inferior good affect its equilibrium price and equilibrium quantity.  Explain with the help of a diagram.
	Syn
	A decrease in the income of buyers of inferior goods will cause an increase in the demand for inferior goods.  As a result, the market demand curve of the commodity will shift to the right.  Consequently, the equilibrium price and equilibrium quantity both increases.










	2+2 = 4


CHAPTER- CENTRAL PROBLEMS

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Why is production possibility curve concave to its origin?
	AN
	PPC is concave to its origin because marginal opportunity cost tends to rise because of the law of diminishing returns

When more and more resources are applied to X, additional gain of output tends to decrease, and as more and more resources are withdrawn from Y, additional loss of output tend to rise.
	3

	2
	If resources are scarce, how do you explain massive unemployment in India?
	APL
	Factors of production are jointly used .Labour is combined with capital .In India there is a severe shortage for capital. In the absence of capital, labour alone cannot be used.. Hence  labour remain unemployed
	3


CHAPTER—DEMAND

	SL NO
	 QUESTOINS           
	APL/AN/

SY/ EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Suppose good A is complementary to good B. how does increase in price of good B affect the demand for good A. 
	APL
	Since A and B are complementary goods, demand for good A should decrease as a result of increase in price of good B
	1

	2
	The elasticity of demand for good is one. What will happen to total expenditure made for the good if its price falls
	APL
	The total expenditure will remain constant with the fall in price when the elasticity of demand for good is one.
	1


CHAPTER—Production function

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	A Dentist was charging Rs.300 for a standard clearing job and per month it used to generate total revenue equal to Rs. 30,000/-.She has since last month increased the price of dental clearing to Rs. 350. As a result, few customers are now coming for dental clearing,but the total revenue is now Rs. 33,250/-. From this, what can we conclude about the elasticity of demand for such a dental service.
	APL
	   Price

Total expenditure by customers

Rs. 300

Rs.30,000

Rs.350

Rs. 33,250

With increase in price,expenditure has tended to rise.Accordingly elasticity of demand should be less than unity
	3

	
	Explain the meaning of returns to scale. Explain the reasons for increasing returns to scale.
	EV
	When a producer changes all the factors of production in the same proportion, the proportional relationship between output and factor input is known as returns to scale

Reason:

1) division of labour

2) Use of specialized machines.
	


CHAPTER—SUPPLY

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	How does a cost saving technological progress will shift supply curve and why?
	Ev
	A cost saving technological progress will reduce the  marginal cost of production.down ward shift in supply curve mean supply curve shift forward,signifying increase in supply.so cost saving technological progress leads to increase in supply
	4

	
	What is meant by zero elastic supply?
	AN
	When quantity supplied does not respond to any change in price, it is called zero elastic supply
	1


 CHAPTER—COST AND REVENUE

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Why is the MC curve in the short run ‘U’ shaped?
	 AN
	The marginal cost is the change in total cost due to change in a unit of variable factor

In the short run as the employment of variable factor increases, fixed factor remaining constant, in the initial stage marginal cost decreases, bur finally tends to rise in accordance with law of variable proportions.
	3

	
	Why is AR always equal to MR for a competitive firm?
	apl
	Under perfect competition price is determined by the Industry. Constant price implies constant AR, and constant AR implies that AR= MR. Accordingly AR and MR under perfect competition are shown by a horizontal straight line.
	3


CHAPTER—MARKET FORMS

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Why is the demand curve facing a firm perfectly elastic under perfect competition but less than perfectly elastic under monopolistic competition?
	AN
	Under perfect competition the price of the product is determined by the industry and firm has no option but to accept it.A firm cannot influence or alter the price.Implying that a firm can sell any quantity at the given price.Therefor,the demand curve will be a straight line parallel to the X-axis

Under monopolistic competition,seller sells a differentiated product.he can sell more only by lowering the price,so the demand curve is less thanperfectly elastic
	6

	
	Explain how efficiency may increase if two firms merge
	AN
	1) Increase in the scale of output and consequent economies of scale

2) Better division and specialization

3) Use of better technology, saving the cost of production
	3.


CHAPTER—INTRODUCTION

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	What is meant by circular flow of income? Name its three related phases
	AN
	The flow of production,income and expenditure is a circular flow. Production gives rise ti income,income gives to demand for goods and services and in turn gives rise to expenditure.Expenditure leads to further production income and expenditure becomes circular with no beginning or no end.
	4

	
	Define real flow


	AN
	It implies the flow of factor services from the household sector to the producing sector and the corresponding flow of goods and services from producing sector to the house sector.
	3


CHAPTER— RELATED AGGREGATES OF NATIONAL INCOME

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Why is the income earned by foreigners working in branch of a foreign bank in India a part of the domestic factor income of India
	EV
	Because the foreign bank is located within the domestic territory of India.
	1

	
	Explain the meaning  of non-market activities
	EV
	Activities which are not concluded through exchange or which do not involve sale of goods and services.
	1


CHAPTER—MEASUREMENT OF NATIONAL INCOME

	SL NO
	 QUESTOINS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	Differentiate between factor inputs and non factor inputs
	AN
	 Factor inputsLand, labour, capital and enterprise.

Secondary inputs or non-factor inputs are those non durable producer goods and services which are used by the producers for production of goods and services.
	3

	
	What  type of data is required to measure national income at each of the three phases of its circular flow.
	AN
	1) Production phase-data relating to net value added at factor cost

2) Income phase- The data relating to  net interest,net rent,net profit and net wages and net factor income from abroad.

3) Expenditure method: The data relating to private consumption expenditure,Government consumption expenditure,gross capital formation,net exports,depreciation,net indirect tax, and net factor income from abroad
	3


CHAPTER :MONEY &BANKING

	SL NO
	 QUESTIONS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	What is meant by an ideal money supply
	SY
	That amont of money supply which keeps the total purchasing power in a state of balance with aggregate supply so that the economy does not suffer inflationary or deflationary situations.
	3

	
	What is credit creation
	SY
	Creation of demand deposit with commercial bank..deposits are created many times more than the cash reserve.If against the cash reserve of Rs.100 demand deposit of Rs.1000, are created,it is called credit creation by a multiplier of 10.
	4


CHAPTER—BUDGET AND THE GOVERNMENT

	1
	Define capital budget
	EV
	Capital budget is the statement of estimated revenue receipts and estimated capital expenditure during a fiscal year
	1

	
	 How may a deficit be financed?
	EV
	1) By monetary expansion

2) Borrowing by the government from the public through market loans etc.
	6


CHAPTER— BALANCE OF PAYMENTS

	SL NO
	 QUESTIONS           
	APL/AN/

SY/EV
	VALUE POINTS
	POINTS

WISE

MARKS

	1
	What is meant by foreign exchange market? Explain the main functions of the foreign exchange market?
	AN
	Market which handles supply and demand of the currencies of different countries.

1) Transfer function

2)  Credit function

3) Hedging function
	4

	
	Define accommodating and autonomous items
	EV
	1) Economic transaction that are undertaken for certain economic or profit motive

2) Economic transaction that are undertaken to fulfill other activities in the BOP such as government financing
	4
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